Allbrox® 3 - 6D Features

Internal hinges.
(Not easily compromised
from outside)

Flame Retardant

IP Level: 66

Durable GRP Material

Intergrated “rain
canopy”

Multi-angle mounting brackets

Flush mounted
window versions

Quarter Turn Lock

Can accommodate DB Kit/

Inner Door.
* Allbrox 4 Deep and 6 Deep
cannot accommodate DB Kit




ZVNALLBRO

Allbrox®

SMC (Sheet Moulding Compound)
-50° C to + 200° C

960° / UL94 VO
25 years +

1P66

IK10

7 BROX 8 PORTRAIT

OX 7.1 PORTRAIT

0OX 6.5 PORTRAIT

~ ALLBROX 6

ALLBROX 5

 ALLBROX 4 DEEP
o
ALLBROX 4

ALLBROX 3




Allbrox®

N
ot}

ALLBRO

A

SMC (Sheet Moulding Compound), PC for window

-50° C to + 200° C

960° / UL94 VO

25 years +

1P66

IK10

OX 8 LANDSCAPE

.1 LANDSCAPE

6.5 LANDSCAPE

ALLBROX 4 DEEP
WINDOW
Il 5
ALLBROX 4
WINDOW

ALLBROX 3
WINDOW

* ALL SIZES AVAILABLE IN ORANGE




Part Number Part Number Description H W D W1 H1
(Grey) (Orange) (mm) (mm) (mm) (mm) | (mm)
ALL-003 ALL-003/0 Allbrox 3 with SMC Device plate 350 250 200 212 317
ALL-004 ALL-004/0 Allbrox 4 with SMC Device plate 400 300 200 262 364
ALL-004/D ALL-004/D/O Allbrox 4 Deep with SMC Device Plate 400 300 273 262 364
ALL-005 ALL-005/0 Allbrox 5 with SMC Device plate 500 350 200 312 467
ALL-006 ALL-006/0 Allbrox 6 with SMC Device plate 600 400 200 362 567
ALL-006/D ALL-006/D/O Allbrox 6 Deep with SMC Device Plate (]0]0] 400 250 362 567
ALL-006_5-L ALL-006_5-L/O Allbrox 6.5 Landscape with SMC Device Plate 500 700 246 619 419
ALL-006_5-P ALL-006_5-P/O | Allbrox 6.5 Portrait with SMC Device Plate 700 500 246 419 619
ALL-006_5-L/D | ALL-006_5-L/D/O | Allbrox 6.5 Deep Landscape with SMC Device Plate | 500 700 366 619 419
ALL-006_5-P/D | ALL-006_5-P/D/O | Allbrox 6.5 Deep Portrait with SMC Device Plate 700 500 366 419 619
ALL-007_1-P ALL-007_1-P/O | Allbrox 7.1 Portrait with SMC Device plate 828 710 287 634 754
ALL-007_1-L ALL-007_1-L/O Allbrox 7.1 Landscape with SMC Device plate 710 828 287 754 634
ALL-008-P ALL-008-P/O Allbrox 8 Portrait with SMC Device plate 1000 800 320 710 910
ALL-008-L ALL-008-L/O Allbrox 8 Landscape SMC Device plate 800 1000 320 910 710
Allbrox Galvanised Steel Device Plate
Part Number Description H w Thickness
(mm) (mm)

ALL-M/SMPLATE-3 ALL Mounting Steel Plate No.3 311 238 1.6
ALL-M/SMPLATE-4 ALL Mounting Steel Plate No.4 361 288 1.6
ALL-M/SMPLATE-5 ALL Mounting Steel Plate No.5 461 338 1.6
ALL-M/SMPLATE-6 ALL Mounting Steel Plate No.6 554 380 1.6
ALL-M/SMPLATE-6_5 | ALL Mounting Steel Plate No.6_5 590,7 390,7 2
ALL-M/SMPLATE-7 ALL Mounting Steel Plate No.7 605 532,7 2




Allbrox® Distribution Kits

ALLBROX® 4-6

Distribution Board Kit

i
iy
' L LT
- : -unu...,“:
| i
- ] LTI
""""HI:;

[
L1

H gy o

Allbrox® Distribution Board Kit

-urr

LB

il
LT

gl
L
T
i
tirn
UL
i

Part Number Description No. of Rows MCB’s Per No. of Neutral No. of Earth Bars
Row Bars
ALL-004/DBK-A | Allbrox 4 Distribution Board Kit Assembled 10 2x (14 way) 2x (12 way)
ALL-005/DBK-A | Allbrox 5 Distribution Board Kit Assembled 13 4x (14 way) 4x (12 way)
ALL-006/DBK-A | Allbrox 6 Distribution Board Kit Assembled 15 5x (15 way) 2x (18 way) + 2x (12
way)
Allbrox® Distribution Board Kit
Assembl
1) Remove device plate from 2) Fit the steel side plates with
the base. Leave the 4 x M6 nuts the plastic supports (B) onto the
in place for fixing the mounting mounting rails (A) using the 4 x
rails in place.Fit mounting rails M6 x 12CH EG screws and M6
(A) as shown using the 4 x M6 washers as shown.
x 12 CH EG screws and M6
washers. Ensure that the bigger
space between the hole and
end of the mounting rail is fitted
toward the hinge side of the box
3) Fit the s_teel din rails_(C), for 3.5x12 4) Clip the plastic Fascia plates
breakers, into the plastic sup- Panpozi (D)into the plastic supports as
ports using 2 x 3.5 x 12 Panpozi thread shown.
thread cutter screws on each cutter
en'd as shown. Fit the slteel din screws Product No. Fascia
rail, for neutral bar, upside down Plates
using 2 x 8 x 9.5 thread cutter e
Bk ALLBROX 4 2

screws on each end as shown. Panpozi ©)

thread ALLBROX 5 3

cutter

SEETE ALLBROX 6 4

10




Allbrox® Inner Door Kits

ALLBROX® 4-6

Inner Doors

Allbrox® Inner Door Allbrox® with PC Window

Part Number Description Part Number Description
ALL-004/IN/DOOR Allbrox 4 Inner Door ALL-003/CLEARPC Allbrox 3 with clear Polycarbonate window
ALL-005/IN/DOOR Allbrox 5 Inner Door ALL-004/CLEARPC Allbrox 4 with clear Polycarbonate window
ALL-006/IN/DOOR Allbrox 6 Inner Door ALL-005/CLEARPC Allbrox 5 with clear Polycarbonate window

ALL-006/CLEARPC Allbrox 6 with clear Polycarbonate window

Allbrox ®Inner Door Fitting Options

INTERNAL DOOR INTERNAL DOOR INTERNAL DOOR
DEPTH SETTING: HIGH DEPTH SETTING: MIDDLE DEPTH SETTING: LOW

SECTION A-A SECTION B-B
SCALE 1 : SCALE1:6

2.1) To remove the door,
complete step 1 and pull
the inner door towards
yourself.

1) To remove or place the
inner door in an Allbrox®

simply pull the two hinge

pins as indicated towards
each other.

2.2) To place the inner
door into the Allbrox®
complete step 1 and let
the hinge pins go once the
pins are inline with the
hinge sleeve.

1



Allbrox® 6.5 & 7.1

* Please note that the construction of the 6.5 and 7.1 sizes differs from the smaller sizes (3-6D). The features
therefore differ.

ALLBROX® 6.5

ALLBROX® 7.1

Door locator Extra strength lid Easily Removable door

12



